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ODIZARIRA  3,480,000,0002 +42.81608% 1,490,000
p 1,146,000
= 344,000
NI 1,900,000 230,000 1,670,000
p 1,800,000
= 100,000
307 212H0| & 100,000 100,000 0
04 BIZFHALR X 100,000 100,000 0
OFLtol &0tS =X 200,000, 00024 *50% 100,000
403 KX EHH S K2 0| & 1,800,000 100,000 1,700,000
p 1,800,000
01 XX SHH K= B X 1,800,000 100,000 1,700,000
OREHAN ST &
3,000,000, 000! *2JH 2 +30% 1,800,000
g 1,800,000
I B AT A S X2 45,000 48,000 A3,000
307 212H0| & 45,000 48,000 A3,000
02 Q1AM B E 45,000 48,000 3,000
ONEABLHAEE AT
37,500, 0002 %25 *60% 45,000
SRV 1,130,000 830,465 249,535
| 120,000
= 1,010,000
308 XX EHH S 01 & 912,000 714,465 197,535
| 120,000
= 792,000
01 XIS HZABES 912,000 714,465 197,535
OZSIt =34 X 160,000
p 120,000
= 40,000
OftRBABUE T4
1,125,000, 000! +3% *8% 270,000
OZOXI A AIOHE A 20,0002 %20, 0005 *15% 60,000
OZOFXIH AHOI 2RI X2l
15,000 %32,0005 * 15% 72,000
OB2ZAHE KR 40,0002 %40,0005+10% 160,000
oftes=H N 6, 0002 50, 0005 *30% 90,000
OstR02S M4 FHIK N 100,000
403 KX EHH SR 0| & 218,000 166,000 52,000
01 XFXISHRIXHZ 2 & 218,000 166,000 52,000
O8It HES0| N
10,000, 00024 20CH *20% 40,000
O2AHX 7 28,000
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O8te=Il Hs220l N
50,0008 +5, 000CH *20% 50,000
OSSO0 A4 X8 350,000,0002 +20% 70,000
OZAAA X8 30,000
SE=IRH 643,000 606,000 37,000
308 XX €I S 01 & 400,000 480,000 80,000
01 HXSHBASES 400,000 480,000 80,000
OYESIE LEHL X8
400,0002 10, 0005 *10% 400,000
403 X+ XIS+ HI S XH= 0| & 243,000 126,000 117,000
01 RIXISHH K22 X 243,000 126,000 117,000
OFSHE LI ALK S
90,000, 000! *107H A +20% 180,000
OYESIHSLDLHEI| X
3,800, 00021 *50CH *20% 38,000
OYE=I ZSHAMAG| X
2,500, 00021 *50CH *20% 25,000
IEABLHA X 75,000 30,000 45,000
308 X+ XI A S 01 & 45,000 0 45,000
01 X SHBAEES 45,000 0 45,000
O£F20lAAFY K 150,000 *1,0005 *30% 45,000
403 Xt XIS+ HI S XH= 0| & 30,000 30,000 0
01 HXSHIZLEE 30,000 30,000 0
OJF=EQBLF AL ZHIXI2
50,000, 0002 %325 %20% 30,000
IISMASHR 210,000 221,000 A 11,000
403 Xt XI A S XH2 0| & 210,000 221,000 A 11,000
01 IXSHIZE S 210,000 221,000 A 11,000
OYAHSI HESH+AE N
5,000, 00021 * 120 K| € x20% 120,000
OYHSI PHERAL X
4,000, 00021 *50 K  *20% 40,000
OLHSIH MRR LI ABA
50,000, 000! *17H 4 %20% 10,000
OY A= BE=I| X
4,000, 00021 *50CH *20% 40,000
JIEIIES LR 367,000 468,000 A101,000
308 X+ XI £t A S 01 275,000 300,000 25,000
01 HXESHBASES 275,000 300,000 25,000
%25t SEXR 305,555,008 65« 15% 275,000
403 Xk XI A S XH= 0| & 92,000 168,000 76,000
01 X SHAEE X 92,000 168,000 A76,000
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CEENESNE
30,000, 000 %29 £ *20% 12,000
OAMSEIF SEXA  250,000,0008 x2F+16% 80,000
2B 40,000 1,930,000 1,890,000
307 212+0I & 40,000 40,000 0
02 QIAAMRE 40,000 40,000 0
OBtLoUC S4 40,000
WE=LIES 12,584,000 1,183,317 1,400,683
| 8,775,000
= 3,809,000
S DRTAAY 1,961,000 1,960,817 183
| 1,701,000
= 260,000
308 X+XI €IS 01 & 1,961,000 1,960,817 183
| 1,701,000
= 260,000
01 KIXISHHI B A 2 X3 1,961,000 1,960,817 183
ORI AN
33081 %29, 439 %2502 +79. 0128%% 1,919,000
| 1,701,000
= 218,000
OOtS=X AL SRXIY 1473652 9502 *30% 42,000
EASUUCTKY 246,400 195,000 51,400
307 21201 & 70,000 40,000 30,000
04 DIFHALE 70,000 40,000 30,000
OZM2 SUCH U JAUS &I}
5,000,000+ 1074 24 A 50,000
OFNE AHISTH A 10,000,000! #23] 20,000
308 X+XI €I S 01 & 140,400 155,000 A 14,600
01 KIXISHH B A 2 XS 140,400 155,000 A 14,600
OSPEUMESH N 133,714 +5,0005+21% 140,400
403 XtXI SRS XH2 0] & 36,000 0 36,000
01 XHXISHHIXH 2 2 & 36,000 0 36,000
OSRESMHSHALI| X2
60,000, 0002 ¥37H 4 x20% 36,000
HYLRMARIR 645,000 420,000 225,000
308 XX EHH S 01 & 150,000 120,000 30,000
01 XIS LA 2 ES 150,000 120,000 30,000
HA DR2UASAH N
10,0002! %50, 0005 *20% 100,000
OX4 2 N 250,000, 0002 x20% 50,000
403 Xt XI SRS XH2 0] & 495,000 300,000 195,000
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01 RHXISHI X2 X 495,000 300,000 195,000
OOtE0ie 5% o)l X 315,000
OMEHIEE ZHIXS 30,000
SEME ALY 100,000
OZAZ MNEX 2YFH 7Y 50,000
UH TABMN J|BEY 9,531,600 8,607,500 924,100
] 7,074,000
= 2,457,600
308 XX/ €I SOI T 7,251,600 7,287,500 £35,900
] 5,574,000
= 1,677,600
01 HXSHZ 42X 7,251,600 7,287,500 £35,900
OZEAMYRIX LEHXS
80,0002 %7, 00074 * 18% 100,800
O2E MY2IX XHHAIE
1,284,000, 0002 23 0% 256,800
OMERE(Z ZINSNUHXE
9,500,000, 000! *36% 3,420,000
] 2,700,000
= 720,000
OFMAMERS UXME 900,002 «2,000ha*13% 234,000
OZAZ NS BAKIE
10,000, 000! 5274 2 530% 6,000
OFEelS AL2IX MEH X2
60,0008 %119, 777 .75 »45% 3,234,000
] 2,874,000
= 360,000
403 XX €M S X201 & 2,280,000 1,320,000 960,000
] 1,500,000
= 780,000
01 RHXISHHITH2 2 = 2,280,000 1,320,000 960,000
OMEHHEI! XI® 30,000,002 =824 A12.5% 30,000
OZAZZYH Tl X
150,000, 0002 *207H 2 *30% 900,000
] 600,000
= 300,000
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308 XA EHM SO0l S 200,000 0 200,000
01 HIXHHBLEEXS 200,000 0 200,000
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2 678,300
= 339, 150
OMHISEMEIXIA 200,000,002 *5TH A *45% 450,000
3 300,000
= 150,000
OMHIHZ2 AT 24,000,002 *4TH A *65% 62,400
2 48,000
= 14,400
OMH RS T TEI| X &
30,000,0002 1074 A #65% 195,000
2 150,000
= 45,000
OYHE E2D225I| X2
180,000, 0002 *27H A 20% 72,000
E MY MM REIBEL 2 102,000 264,000 162,000
403 KX EHHI S K201 & 102,000 264,000 A162,000
01 XIXISHHI T =2 X 102,000 264,000 A162,000
OCHE 24| T B F Al & X 2
170,000, 00021 ¥37H 2 x20% 102,000
ZNSREFHE N 1,833,000 70,000 1,663,000
el 1,101,000
= 732,000
403 XX EHFI S K2 0| & 1,833,000 70,000 1,663,000
3 1,101,000
= 732,000
01 XIS X2 2 & 1,833,000 170,000 1,663,000
OZNSDHZ LY
2,201,785,0002 * 141 x56% 1,233,000
el 1,101,000
= 132,000
OFN2 SETBHALES
1,000,000, 0002 *27H 2 *15% 300,000
OEEHRSSINBALN
1,000,000, 0002 %274 2 *15% 300,000
NESLHFSAAN S 368,000 642,000 A274,000
308 Xt XI £H 7 S 01 & 240,000 370,000 130,000
01 HXISHBABES 240,000 370,000 130,000
OZLSEMLALY 5,000 *120,000kg*15% 90,000
OZZoHYHRAA 40,0002 15,000kg*25% 150,000
403 XX SHH S K20 & 128,000 272,000 A 144,000
01 XFXISHHIXH2 2 & 128,000 272,000 A 144,000
OYHE 22T ALXE
50,000,0002 1074 A 20% 100,000
OZ2H2IS 0IMES BHANE X2
3,500, 0002 *407H £ *20% 28,000




SN
X XH .
S Tt

ok

Hie e

> >

£

t
Fade 3t

Fld2el

b

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
A0 OlHA=HH At 1,354,000 1,386,000 A32,000

) 1,138,000
[~ 216,000
307 @12+01 & 418,000 450,000 32,000
) 418,000
02 QItAAE X 418,000 450,000 32,000
OA1DJ|0IZF M AL (0122 2t2]) 418,000
) 418,000
308 A XISHHISOI A 936,000 936,000 0
pJ 720,000
[= 216,000
01 HXSHBAEEXZ 936,000 936,000 0
OADI0IBHMAS (HESE)
9,000 «160, 0005 *65% 936,000
pJ 720,000
[ 216,000
st e 22,103,134 12,130,786 9,972,348
= 15,407,100
pJ 2,022,669
[= 4,673,365
i=etd 17,438,590 7,494,696 9,943,894
= 15,407,100
[ 2,031,490
308 XX SHHISO0I A 16,925,840 7,397,196 9,528,644
= 15,009,600
[= 1,916,240
Ol AIXSHIANEEXS 16,925,840 7,397,196 9,528,644
O =AY 6,141,000, 0002 *65.35092% 4,013,200
= 3,556,000
[= 457,200
OFHS 0l gteal 15,200,000, 000%38% 5,776,000
= 5,320,000
[= 456,000
OABR42 HEBEY
7,000 «194, 0005 *51% 692,580
= 407,400
[= 285, 180
OUNXIMBHOIHABAIX R
2,00094 %2,877, 0005 *39% 2,244,060
= 1,726,200
[= 517,860
OJ=ENEY AHE Ba2 A
1,5005 %3, 333, 3332 *84% 4,200,000
= 4,000,000
[= 200,000
403 XX SRS =0 A 512,750 97,500 415,250
= 397,500
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< 115,250
01 RXI SRR 2 % 512,750 97,500 415,250
ONEY AR 30,000, 0002 *5LH +65% 97,500
2 75,000
= 22,500
ONBLYHASIHZXH  40,000,0002 «2CH*60% 48,000
2 40,000
= 8,000
OINEYTSUNS 2SZH X
5,000,000% * 1 13CH *65% 367,250
2 282,500
= 84,750
IERYDEAY 2,846,644 2,863,656 AT7,012
o] 2,022,669
= 823,975
307 220 987, 120 987, 120 0
| 592,270
= 394,850
02 QIABABE 987, 120 987, 120 0
ONEAMLAAZLRR 2121| 987, 120
o] 592,270
= 394,850
308 X+XIEHHISOI & 1,859,524 1,861,536 A2,012
| 1,430,399
= 429,125
NP EEEREES 1,859,524 1,861,536 A2,012
OJlEYe TSYRS 29
4,319, 3452 45074 4 +65% 1,263,409
| 971,849
= 291,560
ONEYATS YN W2
1,238, 00021 #4504 4 *65% 362,115
o] 278,550
= 83,565
OHXNLDHEE ALYX X
10,000, 0002 *607H 4 *30% 234,000
o] 180,000
= 54,000
of o 1 24 2 0 2 218,000 177,000 41,000
308 X+XIEHHISOI & 218,000 177,000 41,000
01 IXISHHBAEES 218,000 177,000 41,000
Oy &AEX & 40,000
OSGASISHAY O 2SS
21,0002 *18,730. 1kg+30% 118,000
ORI 0l 2 XX & 8521 %4,705,85070 » 15% 60,000
IS EE R 122,200 112,200 10,000
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307 QI2tol A 10,000 0 10,000
02 QItF A8 X 10,000 0 10,000
OIS ARNA=2 WSH XA 10,000
308 AtXIEHM SOl A& 112,200 112,200 0
01 XM ABAMEES 112,200 112,200 0
OZ3=29 Hixl 550,000 85 « 128 «20% 112,200
b AR ,005,500 ,049,434 A43,934
308 AtXIEHH S 01 ,005,500 ,049,434 A43,934
01 XA EEZ ,005,500 ,049,434 A43,934
OUIs =QAYUYBHAXIR(2F)
266,666,000 *2Z *30% 160,000
OFAJE ZQEY 0L (35)
1,970,000, 000& *25% 492,500
OLANEsIH &Zdl X2
100, 000& *23,2005 * 15% 348,000
OLAN=EsIt dzH BH 5,000
SYHAANEXA 353,400 315,000 38,400
403 KX SHHIS AH=0[ & 353,400 315,000 38,400
01 AtXIEHHA2E X 353,400 315,000 38,400
OFEA 227 asA4d XA 130,000
OLA2 st AEHIXE
440,000, 000& *25% 110,000
OsSMMH™elAIEXIA
30,000,000 * 18I 2~ *21% 113,400
s=235X& 118,800 118,800 0
308 AtXIEHMI SO01 ™ 118,800 118,800 0
01 IXNHHMBANELS 118,800 118,800 0
ORJl== MelAtd  165,000& *2,4000t 2| *30% 118,800
HE2AZU (F4t) 101,800 80,300 21,500
Jl23| 101,800 80,300 21,500
Jle=3| 101,800 80,300 21,500
201 B2 FH| 50,800 40,100 10,700
01 At 2teltl 46,800 36,100 10,700
OSUIREFH 46,800
02 2=2gHl 4,000 4,000 0
OMgR=A 4,000
202 od| 46,800 36,000 10,800
01 2LHAbI 46,800 36,000 10,800
OSUHRFE 46,800
203 g =&d| 4,200 4,200 0
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